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MMDE-028 : FOUNDATION OF EDUCATION 
FOR THE HEARING IMPAIRED 

Time : 2 hours 	 Maximum Marks : 50 

Note : All questions are compulsory. Questions may or may 

not have internal choice. Marks are allotted against each 
question. 

Answer the following questions in about 30 words 
each. 

1. Which is the first school for the deaf in India ? 2 

2. Define communication with examples. 2 

3. What is linguistics ? 2 

4. What are the characteristics of H.I. with C.P. 
children ? 

2 

5. Write a brief note on cued speech. 2 
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6. Answer any four questions in about 60 words 
each. 

(a) Give a list of schemes available for the deaf. 	5 

(b) Briefly discuss about Bala Vidyalaya 	5 
Chennai. 

(c) State the main objectives of A.G. Bell 
	5 

Association. 

(d) What are the main characteristics of sign 
	5 

language ? 

(e) Write the role of employer's organization for 
	5 

disabled persons. 

(f) What do you mean by rehabilitation ? 
	5 

Answer in about 250 words. 

	

7. 	Explain briefly the modes of communication 10 
approaches for hearing impaired. 

OR 
How do counselling motivate to parents of deaf ? 
Discuss with suitable examples. 

	

8. 	Describe the role of therapeutic intervention for 10 
deaf with mental retardation. 

OR 
What is integrated education ? Describe the types 
of integration with examples. 
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